
■ 次の に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

① (38 － 18) ÷ ＝ 4

② 27 ÷ 9 － ＝ 1

③ 35 ÷ (8 － ) ＝ 7

④ (3 － ) × 7 ＝ 14

⑤ 12 ÷ ( ＋ 1) ＝ 4

⑥ (14 ＋ 67) ÷ ＝ 9

⑦ 8 ÷ 8 ＋ ＝ 8

⑧ ＋ 4 － 7 ＝ 3

⑨ × (2 ＋ 3) ＝ 25

⑩ － 2 ＋ 9 ＝ 14

⑪ 18 － ( － 4) ＝ 14

⑫ × (21 ÷ 7) ＝ 21

⑬ 4 ＋ 4 × ＝ 12

⑭ 22 － － 7 ＝ 6

⑮ 77 － 42 ÷ ＝ 71

⑯ ＋ (3 － 2) ＝ 8

⑰ (5 ＋ 9) × ＝ 84

⑱ × (3 － 1) ＝ 18

⑲ × 2 ＋ 4 ＝ 18

⑳ 35 ÷ 5 × ＝ 42

㉑ ＋ 6 ÷ 3 ＝ 4

㉒ 18 － (6 ＋ ) ＝ 7

㉓ 42 － 9 × ＝ 15

㉔ 5 × － 5 ＝ 40
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■ 次の に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

① (38 － 18) ÷ ＝ 45

② 27 ÷ 9 － ＝ 12

③ 35 ÷ (8 － ) ＝ 73

④ (3 － ) × 7 ＝ 141

⑤ 12 ÷ ( ＋ 1) ＝ 42

⑥ (14 ＋ 67) ÷ ＝ 99

⑦ 8 ÷ 8 ＋ ＝ 87

⑧ ＋ 4 － 7 ＝ 36

⑨ × (2 ＋ 3) ＝ 255

⑩ － 2 ＋ 9 ＝ 147

⑪ 18 － ( － 4) ＝ 148

⑫ × (21 ÷ 7) ＝ 217

⑬ 4 ＋ 4 × ＝ 122

⑭ 22 － － 7 ＝ 69

⑮ 77 － 42 ÷ ＝ 717

⑯ ＋ (3 － 2) ＝ 87

⑰ (5 ＋ 9) × ＝ 846

⑱ × (3 － 1) ＝ 189

⑲ × 2 ＋ 4 ＝ 187

⑳ 35 ÷ 5 × ＝ 426

㉑ ＋ 6 ÷ 3 ＝ 42

㉒ 18 － (6 ＋ ) ＝ 75

㉓ 42 － 9 × ＝ 153

㉔ 5 × － 5 ＝ 409
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